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_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
A5HE B H ALY 2 1,388,784
401 AlZHI L2 2,376,428 0 2,376,428
2 987,644
2 1,388,784
01 A&l 2,367,872 0 2,367,872
OA3H M HH ALY 473,574,400 5504 & 2,367,872
=2 987,644
2 1,380,228
03 A& 8,556 0 8,556
O43 M HHI ALY
2,376,428,0002 *(0.36/100) 8,556
ARD FUSAAY 28,000 0 28,000
401 AlZHI L2 28,000 0 28,000
01 A&l 27,697 0 27,697
Odts =oioig sta F| 138,485& *200m 27,697
03 A& 303 0 303
Odtg stiiote stE |
28,000,000 *1.08% 303
A2 BHI(HerA 22| o) (D1EH JIE) 30,860 11,520 19,340
ol A 30,860 11,520 19,340
=4 J122H 10,560 11,520 A960
201 Ypr2 o] 5,280 5,760 A480
01 Atz 5,280 5,760 1480
OJlEgeEn 5,280, 0002 5,280
202 01| 5,280 5,760 A480
01 ZLHOIH| 5,280 5,760 1480
SP/E=EESS 5,280, 0002 5,280
o= Jl=Y| 20,300 0 20,300
201 Yure ol 20,300 0 20,300
01 ARzl 20,300 0 20,300
Omctatatsl o el 20,300
SR 50,0009 * 12 %1102 5,500
— ==y 40,0002 * 12 %3652 14,600
—gxze 200,0002! 200
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